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SHET 5 EAKER AT E/KT B AKENHRE
IREHW: 20214E10H1H
| IR s (] IUEE Hb 2 For i £k B br i FR A AT #E
B T B 09. 29.9:00 BESTE 0 <100 CFU/mL
B K T R 09. 30.9:05 BEISTE 0 A1 H CFU/100mL
o i , P <1, KFESFKEARE
VR 10.1.8:55 REATE 0.13 CEIR B g3 NTU
g 10. 1. 8:55 E M E <5 <15 s
SRR 10. 1. 8:55 RES=E 0 AR Fk %
IR mT WA 10. 1. 8:55 RESW=E T NMEEEH /
pH 10. 1. 8:55 RESIE 7.75 A/NT6. 5 A KTS. 5 /
4 10.1.8:55 REGTITE 64.3 250 mg/L
5K ¥z 18] =30min, H
AR 10. 1. 8:55 KRESITE 0.18 J KA RAEO. 8, H UK mg/L
h A E=>0.1
A 10. 1. 8:55 REMMTE 1.76 g% gﬂﬁiﬁ% fzgﬁ mg/1.
VEE=I =1 N N
ST 5 =K AR AT FAK) # KN HiRE
IRFHW: 20214E10H 1 H
IiH A s (1] IR b 2 For i £k 1 P R AE AT #E
B T B 09. 29. 8:30 T A T 4[] 54 / CFU/mL
SN 09. 30. 9:00 T4 3826 [A) 0 / CFU/100mL
ARG 09. 30. 9: 00 P A T 4 [A] 0 <1000 CFU/100mL
VEE 10.1.9:30 TiALFEZE ] 38. 6 / NTU
g 10.1.9:30 T EE 4 8] 7 / Bl £ 5 LA
SRR 10.1.9:30 T4 F 2 (] 1 (k55 k) / R
AR AT W) 10.1.9:30 i b 7 4 ] B v Bk / /
A E 10.1.9:30 T4 3822 ) 3. 36 <6 mg/L
A (NH,-N) 10.1.9:30 Tk P 7 [A] 0. 065 <1.0 mg/L
pH 10.1.9:30 T A T 4 8] 8. 04 6-9 /
KR (C) 10.1.9:30 T A T 4[] 23.3 / ‘C
TEES 10.1.9:30 Tk £ 4 i) 704 / uS/cm




